MWWIW%«W ittt

4;‘.35' VExg.2) = [2, 4, 1]
V&“Q,?) < [thi‘aﬁz]

v — o N= Z2x
XM W 47?413

-1 = %

> 4=2 /vvax:—-#&

Do Likodon Condle o] o0
b -4
“:[’;(?} /wva/f(=[—4/f

R -

o {0 = G = G = g amd Y0115 s
Ao Yorumum in o E«W-JWWAAW.

4/“(:2 W(“L)!?) = Czrn* A]
P (vy,1) = (2x,24.27)

e, (<t )= L]

2 = QQAX'FAZ
T e S G e X s -
1 :Q/f\,‘?*‘*/’fa % > " 1 /’\»\jcn

H1 ® L Al & 2 A %4728 pud 424 =4



N {4‘«2(%-» )| g [ 4‘-‘2(1@_@7 sl g
4/3__{?,;;!
: dFBJ ol V8 (1 eond VE(©) me@&ﬁ ober
Tieysy ). ek Voo dor Fralbiece
f((X\ = Ax+%y = R-7) = 2,(4_3\ in & il
W :t(o.)-;/fmﬁw:«m l\f./[)___n; S

“ t e
Yz Fxgiue) = &+ gpactrade Abnd
§oquo) = 0 ¢y =2 GogM) - T =4

V‘%(nj,u,u) = [Z(K‘M), 2(@—0‘) : 2(0_;\)' z(’{r._:])]

7E (x4 = [£,2y,0.0]
v, (rque) = [0.9 4, 4]

.%,‘gﬁ, %lua Vﬁrftjl“,"') B rﬂq-@q{:,g,uu]-fﬁ} 7%,—{{3&!,;_)
‘{%Xlz/ha‘ Az./‘lz]



o odriphos

(n 2(x-u] = AT"X'
(7 fz(*a-u-) :2/)Ha

Bl 2 (u-x) = 4 v - O - Xx=4
9 z2(r-q) -4, g“ﬁ)“'”% gae -~ 4

(s) (7%)?4'3{ = 4
((] Ih U = l—t—

gt =1 S gt mlx=tYfs

—>
(5)

= %0 =4 =1 /d's_?:-; Qu =4 2 15z
(‘r:” w0 = Y

Vsl Atshadd i Cry 0] s [ Y5 o Y 2+ K, 2~ %05 ]
ol o thaf oo )= (2% v (255’

U%t  7lugi= (1, 4]
(o) V@:ﬁra) . CZK|—2{]]
W«‘)&A A= 24X Mw/r’?:—*fzﬂ*a, Ayl

EZ‘E& W f,_’;] (xeR) W (2t6_mu}f4=/ﬂ



WPﬁa(u :{}(x,_a)
:f(&,ag)——>:(:é\ fr & —T & el ‘Mef -{ﬁfr,f;,/:oﬁ
/

wthe Vo mod [lmampn. gludinsndn .

) VEay G025 = (o] Ao 2‘*%7“
(ot [ 5] = (2] Ctyauy wa ot Hoasnsn Loroo
o) - Ufpdoc s Ao

max 12 4=0G = aom 1€ € =04 = fcog) =z
i | -
U456) (%i(x‘.,-.,x,) :-qu&
&-f-]'
Vﬁ“ﬂ"ixh) = [’14”- ,’1/‘”]
Dya, %)= A&
]?“n 'IR"] ) 4 azp . )
Wﬂ«u&/x. Lopd 1fo)-/a"f &l=-= X =
)
> (o { ) : fin=1§ = 1
—_ 1 = o — ::a N
8) 4,950 37 &2 .Hoﬂzﬂw 5 =Yg
W A S _ L3S =0F =
- - %K) /ul*l }/j' /ﬁ
= Mx- ¢n ok MIU_:.(\AI- rn £4
(M)> ;[Id 2 % );;37)/2-}



